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R shx ch x

R ch x shx

R th x ln chx

(0, +∞) cthx ln sh x

(−∞, 0) cthx ln sh (−x)

R 1
ch2x

th x

(−∞, 0) vagy (0, +∞)
1

sh2x
−cth x

R 1
1 + x2

arctg x
= π

2 − arcctg x

(−1, 1)
1

1− x2 arthx =
1
2
· ln 1 + x

1− x

(−∞,−1) vagy (1,+∞)
1

1− x2 arcth x =
1
2
· ln x + 1

x− 1

R 1√
1 + x2

arsh x = ln(x +
√

1 + x2)

(−1, 1)
1√

1− x2

arcsin x
= π

2 − arccosx

(1, +∞)
1√

x2 − 1
archx = ln(x +

√
x2 − 1)

(−∞,−1) − 1√
x2 − 1

arch (−x) = ln(−x +
√

x2 − 1)


